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1) 3z2—6zy 2) z%+52+6 (3) —6a’+13a—6
4) z:+16x+64 (5) t°—1 6) z’+2xy+yi+5r+5y+6
(1) (x—2y)X3xz=xX3zx—2y X3z

=3z%—6zy
2) (x+2)z+3)=z*+32+2r+6
=z%4+5z+6
(3) (3a—2)—2a+3)=—6a*+9a +4a —6
=—6a%+13a —6
4) (z+8)°=z?+2X8xx+82
=z%4+16z+64
5) ¢t+1E—1)=t2—-1°
=t?-1

6) (z+y+3z+y+2)={z+y)+3{(z+y)+2}
=(z+y)’+5x+y)+6
=z’+2zy +y®+5z+5y +6
(1) zyly+3) 2) (z+2)x—4) @) (z+3)z+9)
4 (z—8)7 5) (z+10)x—10) (6) (a—b+3)a—b—3)
(1) zy’+3zy =xy Xy +zy X3
=zy(y +3)
(2 2z —2zx—8=x +{2+(—4)jx+2X(—4)
=(z+2)z—4)
(3) 224122427 =224+(3+9)z+3X9
=(z+3)z+9)
(4) 22—16x+64=x2—2X8Xzx+82
=(z—8)°
(5) 22—100=z%—102
=(z+10)(z —10)

6) a—bEMlEELLL
(@a—b)?—9=M?-9
=(M+3)M—3)
=(@a—b+3)a—b-3)
(1) 100 (2) 308 (3) —1100
1) z*—2zy+y’=(z—y)*
=(20.4—10.4)
=102
=100
@) z*—y’=(x+y)z—y)
=(20.44+10.4) % (20.4 —10.4)
=30.8x10
=308
(3) 10y2—10zy — 6z +6y =10y(y —x)—6(zx —vy)
=10y(y —2)+6(y — =)
=(10y +6)y — =)
=(10x10.4+6) % (10.4 —20.4)
=110%x(—10)
=-—1100
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